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W=AH 704,099 697,261 6,838
DIASAH(BSSH) 290,592 321,830 N 31,238
DIAZA Y EMEX A& 290,592 321,830 N31,238
DO A A AH A 16,804 65,804 A 49,000
201 2Et2Hy| 3,120 9,120 A 6,000
01 AP 2t 2] H| 2,520 8,520 A 6,000
OHe|HZEESSEAI HAE2E 1Y
50,0008 * 12& 600
Oold &l H=+Zt| 50,000& = 12& 600
OHSE Ix & MEME E20HAH]
7,000& * 4% x 203] 560
OBHSEIX A28 2 L 224
200,000 200
O0IIFoUSES AHOA L =X MEH
5,600& * 1000H 560
02 =224 H| 600 600 0
OMI2XNEEHZRRE 2E2SUHE 2
50,000& * 10§ » 12&€ 600
202 044l 7,950 7,950 0
01 2L I 7,950 7,950 0
O#HFAR =&Y 4,800,000& 4,800
ool =Xy 3,150,000& 3,150
301 et A= 4,774 4,774 0
09 #HALAHIZ &S 4,774 4,774 0
OHeld#Z2ES EIAF 24|
7,0002 « 36H x 12&€ 3,024
Os&dE=s)| I 24|
7,000& * 50H x 53] 1,750
307 QI2t0| ™ 960 1,960 A 1,000
o1 o=t 960 1,960 A1,000
OFHEs H £ oddl 80,0008 * 12& 960
FOIXXHE 29X 23,016 21,636 1,380
201 et d| 20,316 18,936 1,380
01 AF 22| H| 20,316 18,936 1,380
O XXHYH Ldets=2H|
1,035,000& * 4&7| 4,140
OFUXIXNFHZ &S =& 11,340
-AJ| 3l 30,000 = 27 « 12€ 9,720
-2 Al 3l 30,000& x 27Y * 23| 1,620
OSYHEZ AIES 7,000 = 404 * 12& 336
OxEBELHEZ ANA 500,000 = 9JH 4,500
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scleEEs A 83,120 75,610 7,510
301 et A= 83,120 75,610 7,510
05 S& -0 -t ESEAZ 83,120 75,610 7,510

Oo0l&4¢ 78,720
Jl24g 200,000& = 24¥ = 128 57,600
A= 200,000¥ * 24¥ x 23| 9,600
-5 o & A 4

20,000 * 249 x 23] « 12€ 11,520

OBt A= 50,000& = 88Y * 13| 4,400

INE=3=10= R0 N 9,580 8,580 1,000
301 LBt A= 9,580 8,580 1,000
04 AIsHHMHAH XS 9,580 8,580 1,000

O0FAHI 33,0008 * 4% « 1JHCH » 365Y 4,380

O2g% % gty 100,000& = 1JHCH = 12&€ 1,200

OXgs Xl 4,000,000 * 1JHCH 4,000

S3SAIE A2l 158,072 150,200 7,872
101 Q124 H] 5,838 5,403 435
04 JI2ZtHIZ2 2 ANEES 5,838 5,403 435

OAIIRIAEE & Z2A&22 o2 (HA A}

S AT Al 5,838
-=0 48,240 * 18 = 110Y 5,307
-AMSIEE D282 5,307,000& * 10% 531
201 et H9d| 133,634 114,797 18,837
01 AP 2t 2| H| 9,080 5,880 3,200
O&I|ot2e 2 170,000& * 123] 2,040
Q&I a2 (HATAl)
170,000& * 123] 2,040
OAEALE SR H2H 42 (SHAMZAl)
150,000& = 12& 1,800
OQAIE Jt2D| 2 8,0008 * 2= * 200H 3,200
02 Z32%H| 124,554 108,917 15,637

OZ2222 ¥ HMA 87,125
-8 Y A2ERS3 1,500,000& * 128 18,000
-8l 2 RSB (HUEA)

1,500,000& * 12& 18,000
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2,500,000& = 123 30,000
-AOIEESE HMIIR3 180,000& * 12& 2,160
-HliaZgsAE EIIR3 90,000& = 12& 1,080
-HiagsAE X222l 500,000& 500
==l FaR = g=, 100,000& * 23| 200
—SHANE RS2 (H AT Al) 100,0008 * 23 200
-2at2tel it #2olsl 50,000& * 23] 100
-AH ol STV2 2l (H A AL 19,800 * 12& 238
“AolSTV2el bl (=2 XX HE)
13,200& » 123 159
-AOISTVR I (RS A EEA)
22,000& ~ 12& 264
-y ABZ2(FLUXIIHH)
30,000& = 12& 360
-OHY MBS (HUZASEL)
22,000 = 128 264
“HALFORXAH, SR8 2 Hotx F A
400,000& = 33l 1,200
Ozt 11,000 » 8AlI2 » 105¢ 9,240
OHetAZ Y (A ZAl)
11,000 » 8AlI2 » 105 9,240
OA& ZEHI R Xl 14,269
-2 & X8l(1,903m") 1,032& = 1,903m 1,964
SEASAEEA AS2ALI(1,177m)
1,032& = 1,177m 1,215
-H=E oI 100,000& * 14 100
-l KX 1,700,000& 1,700
-0l S22 (HAZAl 1,700,000 1,700
-HASZE 270,000 * 1704 & 4,590
-H&ZH |X2el 200,000 * 15CH 3,000
O Xt & B | 4,680
-=83=2 2,200,000& = 2CH 4,400
XA Z 70,0003 * 200 = 23| 280
307 2Iztol ™ 6,000 6,000 0
05 BIZHRI & 3 6,000 6,000 0
ORBZAAE 200,000& = 12& 2,400
ORUAGBAAE (HATAl) 300,0008 * 12& 3,600
401 AIEHIZ 28I 3,000 6,500 A 3,500
INE=1:1] 3,000 6,500 A 3,500
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-HAIE ZetAE Rt 15,0002 * 5004 7,500
-HALE HIOIS 70,0003 = 304 2,100
SHARZAGZFI (BWSH) 227,900 183,900 44,000
A2REAMEFA 227,900 183,900 44,000
QlRohE ¥ A2 A 220,900 175,900 45,000
401 Al Bl 2B 220,900 175,900 45,000
01 A& HI 205,000 160,000 45,000
OOtAH 2l DFSAYZ XN 2T 3 AH(L=400m)
25,000,000& 25,000
Og82el Hi4=2FHl S AH(L=70m)
25,000,000& 25,000
OSscl HSAYZ X AR 3 AH(L=400m)
25,000,000& 25,000
OdlE2el Otsd Yz S ILE T AH(L=200m)
25,000,000& 25,000
Os& 12l =2 F b3 AHL=120m)
25,000,000& 25,000
Oz sHEEZ M=&IZ 10,000, 000& 10,000
OE2 S ANE |XNExH| 50,000, 000& 50,000
O=ZAtel Hedg X (F2UEHH A
20,000, 000& 20,000
03 Al 2 THHI 15,900 15,900 0
OAL7L FU=JAAY FU20UHI
125,000,000& * 0.72% 900
Otz % st&adEdl Eulgdxt= 10,000,000 10,000
OM&ZH Xtz 5,000,000& 5,000
22 ZHAME 7,000 8,000 A 1,000
206 M= Hl 5,000 6,000 21,000
01 =8l 5,000 6,000 A 1,000
OZ2Zxd ME=¥ 5,000
S0 2 ZANFY 3,000,000 3,000
-ElH € HE S 2,000,000& 2,000
401 Al I 28I 2,000 2,000 0
03 A& S THHI 2,000 2,000 0
OZZxd FHgx=s 2,000,000& 2,000
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Jl2du(ysd) 185,607 191,531 A5,924
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OSA &dxt& 220,000&  10H » 12& 2,640
OSAD L2 (22A)
100,000 » 1CH + 123 1,200
O&=J &gx= 70,000% = 104 ~ 128 840
Od2=J| 22 & S
22,000& = 204 = 128 528
OSHNUZAEEA SAMI SX=
200,000& » 100 = 128 2,400
OBMCANERA B4) N2
40,0003 * 200 « 123 960
OA2F FLHI(HUZA 1,500, 000& 1,500
OHIHHIAZE 2EH| 11,520
- ZEHDI 6,000
&Y 300,000& * 201 = 45 = 23 4,800
£ 300,000 * 2CH * 23 1,200
Rl = ) 200,000& » 1204 = 23 4,800
—FAX 120,000& = 204 = 32 720
02 5529t 17,969 12,279 5,690
O3323 % MAM(fER2) 15,800,000& 15,800
Odd&HH =X E=Hl 2,169
-CHIIs AR 101 1,300,000& * 17CH = 5% 1,106
=== 4,000,000 * 13CH = 2% 1,040
—FAX 600,000 * 2CH * 2% 24
202 o4 Hl 56,700 45,360 11,340
02 A0l 56,700 45,360 11,340
ool 225,000& * 2198 = 128 56,700
203 2R =AY 11,640 11,640 0
01 J1Z2gg 2=l 6,600 6,600 0
oed 550,000& * 12& 6,600
02 Z3otatg 2=l 840 840 0
OAPI & 2 B I 40,0008 = 21¥ 840
04 EMEEY R 4,200 4,200 0
ORN2ZE =L 350,000& * 12& 4,200
405 At&tE =H| 47,500 72,000 A 24,500
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